AEZA(ZAIE) ATHE JALX L AT AKX

ECHSF&C
3% 202(") | 3" 302(3) | 3 31Y() | 48 012(2) | 048 02L(2)
T2eH(5) 35 - T2eH(5) E3E(5) S E=9(5)
HASHE(5.6) XXM - E2lsEmE= A20192(5.6) |.spmwzaz=
HU282(5.6.9) [(1.5.9.13). (5.6.13) 2R A (5.6) (5.9.13)
=} CRXIR0I2E (13) |- HEErRIRS - ER2E(56.13) |- MZUSRA(3) | 2xx2(5.6.)
_ =2 Am A (5.6.10.13)](5.6.) CHHROIRA(13) |- MHAMAREEEIA| . Foypiahz S
Stga I BHZ=20%1(9.13.) SRR CHYRDISERIO |2 (1.5.6.8.13)
(5.6.13) (1.5.6.10.13) (1.2.5.6)8(1.5.13))| . =az|=0tED
CAXIASEYROl |- BEERI(9.13.) |BHERXI(9.13.) EH(1.2.5.6.9.10.13)
(5.6.13) BHZ= 2 X1(9.13.)
- BHE2X(9.13.)
ATHE 2/ AT A 2 AT A 2 AT
o =LHA LR =LHA = LHA =LHA
&=8 =LA = LH A =LHA =LHA =LA
2XF/DFIR SUAH/ A | SLHAH/ZUA [ LA/ WA | WA/ A | SLHAH/ LA
SR =LHA = LH A =LHA =LHA =LA
S| =LHA = LH A =LHA =LHA =LA
eI / / / / /
MDINER) = LH A = LH A = LH A = LH A = LH A
Ol RetXl / / / / /
EON / / / / /
of LY A = LH A =LY A =LA = LHAH
=2 / / / / /
2 =LA = LH A =LY A LA 2L A
HlD
7 wxr =HA
of OF A Hade =< Tes of oF2t of of 2t of o2t of ofat of o2t
0l 4 Xl (kcal ) 866.67 866.67 1.4 886.3 839.8 896.2 848.5 923.8
Et2=3l=2(g) 61.0 136.1 131.7 1562.9 133.5 135.7
CHEH Xl () 19.05 19.05 16.9 43.1 32.4 33.4 41.7 40.5
Xe(g) 22.2 23.2 22.5 19.5 20.9 25.3
HIEF2IA(R.E) 189.62 268.76 309.8 241.3 432.7 315.3 368.6 191.0
E[0t21 (mg) 0.36 0.45 0.6 0.6 1.0 0.4 0.6 0.4
cl2Eetyl
(na) 0.48 0.56 0.7 0.5 0.8 0.7 0.9 0.4
HIEL2IC(mg) 27.27 35.60 18.4 14.5 17.7 14.7 17.1 28.0
2r&(mg) 260.47 325.06 538.3 496.8 506.0 526.3 700.1 462 .4
Z2(mg) 3.64 4.88 6.8 5.0 8.5 8.0 6.9 5.5
* OHLM‘ AR ZF] £10%, A0 = ©53HE(55~70%) A (7~20%) A H(15~30%)
x 1 oA (kcal) &= ©8tE 4, @il d 4, AWk 9kcal = FAF
= Ay 27 AR
L 2,95 3.9 4.9% 5.00%F 6.9 7.259] 8.7 .45 10.91A27] 11. 250} 12. EvtE 13.0}8hibF 14,35 15. 9317 16.4)37] 17. 94 0] 18.27F
AR, FF E) 19.%



